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Add and subtract within 1,000. | Estimate and solve using the information

I
! Problem 1 ! in the table below.
I
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Amanda has 7 postcards in her collection. She buys 5
more postcards. Find the total number of postcards. Rounded to the nearest hundred, about

Shade two squares that represent the sum. Write two how many more bowls were made than
number sentences.

vases?

Pottery Items Number of Items Made
Vases 304
Bowls 881
Dishes
Spoon Holders 296
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Subtract across zeros. Subtract then check answers by adding.

I ! |
I Problem 3 I Problem 4 |
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Mr. Heathcoat was copying Connie buys a computer for $415 and software for

a flyer to distribute to 370 $198. Shelli buys a computer for $499 and software

elementary students. He for $212. How much more does Shelli spend than

made 112 copies before Connie?
:  lunch. How many more

$ 5,043 . copies does he have left to

_ $876 make?

Subtract across :
zeroes.




